
CHEMISTRY

BOOKS - CHHAYA CHEMISTRY (BENGALI

ENGLISH)

MODEL QUESTION PAPER

Answer The Following Question

1. State Raould's law regarding relative lowering of vapour

pressure. Why is said to be colligative property.

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_J2hPuKptBhpB
https://dl.doubtnut.com/l/_eCtACyrcR6mN


2. At C temperature, vapour pressure of water is

23.55mm. What will be the vapour pressure of the

solution when 6g of urea is mixed with 100g of water?

Watch Video Solution

25∘

3. State Raould's law regarding relative lowering of

vapour pressure. Why is said to be colligative property.

Watch Video Solution

4. At C temperature, vapour pressure of water is

23.55mm. What will be the vapour pressure of the

solution when 6g of urea is mixed with 100g of water?

25∘

https://dl.doubtnut.com/l/_eCtACyrcR6mN
https://dl.doubtnut.com/l/_ykQZokf7mjfv
https://dl.doubtnut.com/l/_kEaxVLSeS8ie


Answer The Following Question Set 1

Watch Video Solution

1. Define CMC and Gold Number.

Watch Video Solution

2. Why is sparkless electricity required for the preparation

of ozone? What do you mean by pseudohalogen?

Watch Video Solution

https://dl.doubtnut.com/l/_kEaxVLSeS8ie
https://dl.doubtnut.com/l/_fzKx6XlBYQhU
https://dl.doubtnut.com/l/_BsHqEIqR8xTi


3. Why are the majority of known noble gas compounds

contain xenon?

Watch Video Solution

4. Write IUPAC name of the compound

. Give an example of hexadentate

ligand and draw its structure.

Watch Video Solution

[Co(NH3)6][CdCl5]

5. Why is vulcanisation important for natureal rubber?

Watch Video Solution

https://dl.doubtnut.com/l/_DHMlarhhVOeW
https://dl.doubtnut.com/l/_2GOGBSHeqEeM
https://dl.doubtnut.com/l/_0zyeER9PjQwz


6. An element crystallises in cubic close packed structure

having edge length 200pm. Calculate radius of the

element and the density if 200g of this element contains

 atoms.

Watch Video Solution

24 × 1024

7. What is packing efficiency?

Watch Video Solution

8. What do you mean by vacancy defect?

Watch Video Solution

https://dl.doubtnut.com/l/_h8oW7KQy6B3Q
https://dl.doubtnut.com/l/_SjpSo3GyAeXH
https://dl.doubtnut.com/l/_EL9XzO71cMsX


9. Why is molality preferred over molarity State

Kohlrausch's law of independent migration.

Watch Video Solution

10. At C, at infinite dilution, the molar conductivity of

HCl, NaCl and  are 426.2, 126.5 and 91.0 

 respectively. Calculate molar

conductivity of  at infinite dilution.

Watch Video Solution

25∘

CH3COONa

ohm1cm2mol− 1

CH3COOH

11. Whal is the percentage of copper in blister copper?

Watch Video Solution

https://dl.doubtnut.com/l/_mEwBWCPEjAIU
https://dl.doubtnut.com/l/_8xYxfeodIqlh
https://dl.doubtnut.com/l/_fPco3gPbuQME


12. Identify A to C 

Watch Video Solution

CH3I
Mg

−−−−→
dry ether

A
CO2
−−→ B

H2O/H +

−−−−−→ C

13. Identify A to F 

View Text Solution

14. An alcohol A  on oxidation with acidified 

 gives carboxylic acid B . Compound A

(C4H10O)

K2Cr2O7 (C4H8O2)

https://dl.doubtnut.com/l/_fPco3gPbuQME
https://dl.doubtnut.com/l/_dJlOAE0aFvjK
https://dl.doubtnut.com/l/_CQfJOIudFVDT
https://dl.doubtnut.com/l/_bkHV5FwxLh4h


when dehydrated with con.  at 443K forms

compound C. Treatment of C with aq-  gives

compound D  which is an isomer of A.

Compound D is resistant to oxidation. Identify A, B, C and

D by giving chemical reactions.

Watch Video Solution

H2SO4

H2SO4

(C4H10O)

15. Convert: Phenol to Aspirin

Watch Video Solution

16. Why cannot aromatic amine (aniline) be prepared by

Gabriel phthalimide process?

Watch Video Solution

https://dl.doubtnut.com/l/_bkHV5FwxLh4h
https://dl.doubtnut.com/l/_gcs5hEhxdxAU
https://dl.doubtnut.com/l/_Acnr9Dv0LhRK


Watch Video Solution

17. Convert: Methyl amine to Methyl isocyanide.

Watch Video Solution

18. .

Watch Video Solution

C2H5I
NaCN
−−−→ D

HO−

−−−−−−−−−→
partial hydrolysis

E
Br2

−−−→
NaOH

F

19. . 

(i) Why do glucose and fructose give same osazone

product?

View Text Solution

C2H5I
NaCN
−−−→ D

HO−

−−−−−−−−−→
partial hydrolysis

E
Br2

−−−→
NaOH

F

https://dl.doubtnut.com/l/_Acnr9Dv0LhRK
https://dl.doubtnut.com/l/_GCqa9yO9vwoU
https://dl.doubtnut.com/l/_SlJHVLzdMI7R
https://dl.doubtnut.com/l/_HsrG95dQ5QKz


20. . 

(ii) Write down the structure of ala-gly.

Watch Video Solution

C2H5I
NaCN
−−−→ D

HO−

−−−−−−−−−→
partial hydrolysis

E
Br2

−−−→
NaOH

F

21. What is meant by a first order reaction? Give an

example of such a reaction.

Watch Video Solution

22. Establish the integrated rate equation for a first order

reaction involving a single reactant.

Watch Video Solution

https://dl.doubtnut.com/l/_HsrG95dQ5QKz
https://dl.doubtnut.com/l/_ZesK3at1GcFx
https://dl.doubtnut.com/l/_rWp2a83Em5yp
https://dl.doubtnut.com/l/_FctfdKxGi1CA


23. From the rate equation of first order reaction, show

first order reaction cannot reach completion.

Watch Video Solution

24. What do you understand by rate of reaction?

Watch Video Solution

25. The rate of particular reaction quadruples when the

temperature changes from 293K to 313K. Calculate

activation energy

Watch Video Solution

https://dl.doubtnut.com/l/_FctfdKxGi1CA
https://dl.doubtnut.com/l/_CGff1Mn6DCHU
https://dl.doubtnut.com/l/_aByNIq17PZAf
https://dl.doubtnut.com/l/_b3SIFmlwqy8p


Watch Video Solution

26. Write with balanced chemical equation what happens

when Zn is treated with dilute 

Watch Video Solution

HNO3

27.  is inert while  is highly reactive towards

hydrolysis- why?

Watch Video Solution

SF6 SF4

28. How is  prepared from  ?

Watch Video Solution

XeF6 XeF4

https://dl.doubtnut.com/l/_b3SIFmlwqy8p
https://dl.doubtnut.com/l/_ijQ10PWaPyyu
https://dl.doubtnut.com/l/_osqFoHpRUe8o
https://dl.doubtnut.com/l/_bQbB3dlxyK4z


29. With what neutral molecule,  is isoelectronic?

View Text Solution

ClOo−

30. An organic compound A  is resistant to

oxidation but forms a compound B  on

reduction. B reacts with HBr to form a bromide C which

on treatment with alcoholic KOH forms an alkene D

. Deduce the structures of A to D by giving

chemical reactions.

View Text Solution

(C3H6O)

(C3H8O)

(C3H6)

https://dl.doubtnut.com/l/_bQbB3dlxyK4z
https://dl.doubtnut.com/l/_HQAt8b1ncURP
https://dl.doubtnut.com/l/_t1Mx8K2Q4zWB


31. Write with balanced chemical equation, what happens

when chloral is heated with conc NaOH solution.

Watch Video Solution

32. Distinguish between propanal and propanone.

View Text Solution

33. 

View Text Solution

https://dl.doubtnut.com/l/_AnVu5JsfK0l4
https://dl.doubtnut.com/l/_N1jxiRfGMQXE
https://dl.doubtnut.com/l/_t4Z3Q5EbkjKV


34. 

Watch Video Solution

CH3CHO
HCN
−−→ D

H + /H2O

−−−−−→ E

35. 

View Text Solution

36. 

Watch Video Solution

HCHO
50 %NaOH
−−−−−−→ I + J

37. The anaesthetic which is administrated by injection is-

https://dl.doubtnut.com/l/_p886A9iDvOdv
https://dl.doubtnut.com/l/_uESYcJqHZMCv
https://dl.doubtnut.com/l/_dLgTot2ZNvsR
https://dl.doubtnut.com/l/_v25CLoN2gC6Q


A. diethy ether

B. divinyl ether

C. liquid nitrous oxide

D. morphine

Answer: D

Watch Video Solution

38. The protein molecule present in haemoglobin is-

A. thrombin

B. fibrinogen

C. globulin

https://dl.doubtnut.com/l/_v25CLoN2gC6Q
https://dl.doubtnut.com/l/_zX56mxTxLiUB


D. casein

Answer: C

Watch Video Solution

39. The number of isomers of dibromobutane is-

A. 9

B. 5

C. 6

D. 8

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_zX56mxTxLiUB
https://dl.doubtnut.com/l/_74KbpbGhychM


40. Which of the following ion is expected to be

colourless

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Cu2 +

Ti4 +

V 3 +

Fe2 +

https://dl.doubtnut.com/l/_74KbpbGhychM
https://dl.doubtnut.com/l/_a23MC2aqnur0


41. A colloidal solution can be purified by following

method of-

A. dialysis

B. peptisation

C. mechanical dispersion

D. oxidation

Answer: A

Watch Video Solution

42. The numbers of tetrahedral and Octahedral holes per

atom in cubical closest packings of atoms respectively

https://dl.doubtnut.com/l/_mSWH1cUMpH8A
https://dl.doubtnut.com/l/_lokFUthHMGkx


are-

A. 1,1

B. 1,2

C. 2,1

D. 2,2

Answer: C

View Text Solution

43. Which of the following antibiotics is used to cure

typhoid-

A. penicillin

https://dl.doubtnut.com/l/_lokFUthHMGkx
https://dl.doubtnut.com/l/_LNUEItyK4xMx


B. chloramphenicol

C. tetracycline

D. streptomcyin

Answer: B

Watch Video Solution

44. Which of the following polymers may be classified as

step growth polymer-

A. teflon

B. PVC

C. polyethene

https://dl.doubtnut.com/l/_LNUEItyK4xMx
https://dl.doubtnut.com/l/_AH5oylhJaPsp


D. nylon 6,6

Answer: D

View Text Solution

45. Picric acid is-

A. 2-ntirophenol

B. 4-nitrophenol

C. 2,4-dinitrophenol

D. 2,4,6-trinitrophenol

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_AH5oylhJaPsp
https://dl.doubtnut.com/l/_OQrMbOeux3QO


46. Which of the following is non-ionisable-

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

[Co(NH3)3Cl3]

[Co(NH3)4Cl2]Cl

[Co(NH3)5Cl]Cl2

[Co(NH3)6]Cl3

47. For a dilute solution of a strong electrolyte, which of

the following facts is correct

https://dl.doubtnut.com/l/_OQrMbOeux3QO
https://dl.doubtnut.com/l/_hitEmF1yIaLc
https://dl.doubtnut.com/l/_WvGD8XU4Q3gX


A. the graph between  and C is linear

B. the graph between  and C is linear

C. the graph between  and  is linear

D. the graph between  and  in linear

Answer: C

Watch Video Solution

∧m

log ∧m

∧m √C

log ∧m √C

48. Which of the following interhalogen is colourless

A. CIF(g)

B. BrF(g)

C. BrCl(g)

https://dl.doubtnut.com/l/_WvGD8XU4Q3gX
https://dl.doubtnut.com/l/_zCGl8G4osXHM


D. Icl(s)

Answer: A

Watch Video Solution

49.  


Identify the type of detergent given in the above

structure.

Watch Video Solution

[CH3(CH2)15 − N(CH3)3].
+
Br−

50. What happens when NaCl solution is added to gold

sol?

Watch Video Solution

https://dl.doubtnut.com/l/_zCGl8G4osXHM
https://dl.doubtnut.com/l/_wOWoC9wklE18
https://dl.doubtnut.com/l/_0ycrgvkccdiT


Watch Video Solution

51. Calculate spin only magnetic moment of  .

Watch Video Solution

Cu2 +

52.  is highly paramagnetic. Why?

Watch Video Solution

Fe3 +

53. Define CMC and Gold Number.

Watch Video Solution

https://dl.doubtnut.com/l/_0ycrgvkccdiT
https://dl.doubtnut.com/l/_6PiKUIbpTHDJ
https://dl.doubtnut.com/l/_hfD54mQwMrhJ
https://dl.doubtnut.com/l/_5xGCgzZ44Duk


54. Why is sparkless electricity required for the

preparation of ozone? What do you mean by

pseudohalogen?

Watch Video Solution

55. Why are the majority of known noble gas compounds

contain xenon?

Watch Video Solution

56. Write IUPAC name of the compound

. Give an example of hexadentate

ligand and draw its structure.

[Co(NH3)6][CdCl5]

https://dl.doubtnut.com/l/_SyPBDmeyldCr
https://dl.doubtnut.com/l/_ht5Xeg1RIVFV
https://dl.doubtnut.com/l/_ZIGG4tVJfS1e


Watch Video Solution

57. Why is vulcanisation important for natureal rubber?

Watch Video Solution

58. An element crystallises in cubic close packed structure

having edge length 200pm. Calculate radius of the

element and the density if 200g of this element contains

 atoms.

Watch Video Solution

24 × 1024

59. What is packing efficiency?

https://dl.doubtnut.com/l/_ZIGG4tVJfS1e
https://dl.doubtnut.com/l/_atgKltROyQLz
https://dl.doubtnut.com/l/_e9krFGkgLA1u
https://dl.doubtnut.com/l/_ICmaRqOcVhie


Watch Video Solution

60. Define space lattice.

Watch Video Solution

61. State Henry's law

Watch Video Solution

62. At C, at infinite dilution, the molar conductivity of

HCl, NaCl and  are 426.2, 126.5 and 91.0 

 respectively. Calculate molar

conductivity of  at infinite dilution.

25∘

CH3COONa

ohm1cm2mol− 1

CH3COOH

https://dl.doubtnut.com/l/_ICmaRqOcVhie
https://dl.doubtnut.com/l/_m813f15DjYCw
https://dl.doubtnut.com/l/_QrB78KIo0Qei
https://dl.doubtnut.com/l/_2pADia03eJZq


Watch Video Solution

63. How is pure alumina extracted from bauxite by Bayer

process?

Watch Video Solution

64. Whal is the percentage of copper in blister copper?

Watch Video Solution

65. Why do transition metals form coloured complexes?

Watch Video Solution

https://dl.doubtnut.com/l/_2pADia03eJZq
https://dl.doubtnut.com/l/_0hfabPmZwHAk
https://dl.doubtnut.com/l/_y22QNhftyK7V
https://dl.doubtnut.com/l/_VkKOIOXbfd6k


66. Identify A to F 

Watch Video Solution

CH3I
Mg

−−−−→
dry ether

A
CO2
−−→ B

H2O/H +

−−−−−→ C

67. Identify A to F 

View Text Solution

68. An alcohol [A] with molecules formula  o

oxidation with aciddified potassium dichromate gives acid

[B] . Compound [A] when dehydrated with

conc.  at  gives compound [C]. Treatment of

(C4H10O)

(C4H8O2)

H2SO4 443K

https://dl.doubtnut.com/l/_rYL4RCeswZRE
https://dl.doubtnut.com/l/_8j0YL5QCUkxO
https://dl.doubtnut.com/l/_9YVv6JqiSbFI


[C] with aqueous  gives compound [D] 

which is an isomer of [A]. compound [D] is resistant to

oxidation but compound [A]can be easily oxidised.

Identify [A], [B], [C] and [D]. Name the type of isomerism

exhibited by [A] and [D].

Watch Video Solution

H2SO4 (C4H10O)

69. Convert: Phenol to Aspirin

Watch Video Solution

70. Why cannot aromatic amine (aniline) be prepared by

Gabriel phthalimide process?

Watch Video Solution

https://dl.doubtnut.com/l/_9YVv6JqiSbFI
https://dl.doubtnut.com/l/_T7pSvRHXMQ31
https://dl.doubtnut.com/l/_9xfFbfFMSOs4


Watch Video Solution

71. Convert: Methyl amine to Methyl isocyanide.

Watch Video Solution

72. .

Watch Video Solution

C2H5I
NaCN
−−−→ D

HO−

−−−−−−−−−→
partial hydrolysis

E
Br2

−−−→
NaOH

F

73. . 

(i) Why do glucose and fructose give same osazone

product?

Watch Video Solution

C2H5I
NaCN
−−−→ D

HO−

−−−−−−−−−→
partial hydrolysis

E
Br2

−−−→
NaOH

F

https://dl.doubtnut.com/l/_9xfFbfFMSOs4
https://dl.doubtnut.com/l/_kLjO5kIWsGEX
https://dl.doubtnut.com/l/_DmON57g5RF1D
https://dl.doubtnut.com/l/_n6pHePlEQXQV


74. . 

(ii) Write down the structure of alagly.

Watch Video Solution

C2H5I
NaCN
−−−→ D

HO−

−−−−−−−−−→
partial hydrolysis

E
Br2

−−−→
NaOH

F

75. What is meant by a first order reaction? Give an

example of such a reaction.

Watch Video Solution

76. Establish the integrated rate equation for a first order

reaction involving a single reactant.

Watch Video Solution

https://dl.doubtnut.com/l/_n6pHePlEQXQV
https://dl.doubtnut.com/l/_bOyEvywJ6Pwh
https://dl.doubtnut.com/l/_ioY6EmfySRsK
https://dl.doubtnut.com/l/_Xc0K00mt2nP5


77. From the rate equation of first order reaction, show

first order reaction cannot reach completion.

Watch Video Solution

78. What do you understand by rate of reaction?

Watch Video Solution

79. Write the differences between order and molecularity

of reaction

Watch Video Solution

https://dl.doubtnut.com/l/_Xc0K00mt2nP5
https://dl.doubtnut.com/l/_8wYYjG2SG1pB
https://dl.doubtnut.com/l/_XI4ISyce5ZVz
https://dl.doubtnut.com/l/_2HKoKiqwHhQk


80. The rate of particular reaction quadruples when the

temperature changes from 293K to 313K. Calculate

activation energy

Watch Video Solution

81. Write with balanced chemical equation what happens

when Zn is treated with dilute 

Watch Video Solution

HNO3

82.  is inert while  is highly reactive towards

hydrolysis- why?

Watch Video Solution

SF6 SF4

https://dl.doubtnut.com/l/_YjY6y5vrRZMF
https://dl.doubtnut.com/l/_CCnDV4gyV4b7
https://dl.doubtnut.com/l/_MUdOxsHkb93I


83. How is  prepared from  ?

Watch Video Solution

XeF6 XeF4

84. With what neutral molecule,  is isoelectronic?

Watch Video Solution

ClO−

85. An organic compound A  is resistant to

oxidation but forms a compound B  on

reduction. B reacts with HBr to form a bromide C which

on treatment with alcoholic KOH forms an alkene D

(C3H6O)

(C3H8O)

https://dl.doubtnut.com/l/_MUdOxsHkb93I
https://dl.doubtnut.com/l/_lkm0sh7EtJGk
https://dl.doubtnut.com/l/_h6u7wCVJyFqS
https://dl.doubtnut.com/l/_R0hdZeXykvFx


. Deduce the structures of A to D by giving

chemical reactions.

View Text Solution

(C3H6)

86. Write with balanced chemical equation, what happens

when chloral is heated with conc NaOH solution.

Watch Video Solution

87. Distinguish between propanal and propanone.

Watch Video Solution

https://dl.doubtnut.com/l/_R0hdZeXykvFx
https://dl.doubtnut.com/l/_M27o6hXPMjHg
https://dl.doubtnut.com/l/_Iq6S3v1mcMYn


88. 

View Text Solution

89. 

Watch Video Solution

CH3CHO
HCN
−−→ D

H + /H2O

−−−−−→ E

90. 

View Text Solution

91. HCHO
50 %NaOH
−−−−−−→ I + J

https://dl.doubtnut.com/l/_eDU4QwaUfE6x
https://dl.doubtnut.com/l/_s43NZOjzk2uA
https://dl.doubtnut.com/l/_ld4QmIFgMalo
https://dl.doubtnut.com/l/_a62jqHVDAtxp


View Text Solution

92. The anaesthetic which is administrated by injection is-

A. diethy ether

B. divinyl ether

C. liquid nitrous oxide

D. morphine

Answer: D

Watch Video Solution

93. The protein molecule present in haemoglobin is-

https://dl.doubtnut.com/l/_a62jqHVDAtxp
https://dl.doubtnut.com/l/_xTVz01NrYN2c
https://dl.doubtnut.com/l/_SC1ZgpzHb07Z


A. thrombin

B. fibrinogen

C. globulin

D. casein

Answer: C

Watch Video Solution

94. The number of isomers of dibromobutane is-

A. 9

B. 5

C. 6

https://dl.doubtnut.com/l/_SC1ZgpzHb07Z
https://dl.doubtnut.com/l/_FDRlhrCDunDm


D. 8

Answer: A

Watch Video Solution

95. Which of the following ion is expected to be

colourless

A. 

B. 

C. 

D. 

Answer: B

Cu2 +

Ti4 +

V 3 +

Fe2 +

https://dl.doubtnut.com/l/_FDRlhrCDunDm
https://dl.doubtnut.com/l/_ZH3Y2eZOu7bo


View Text Solution

96. A colloidal solution can be purified by following

method of-

A. dialysis

B. peptisation

C. mechanical dispersion

D. oxidation

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_ZH3Y2eZOu7bo
https://dl.doubtnut.com/l/_C2bvMR9K1hup


97. The numbers of tetrahedral and Octahedral holes per

atom in cubical closest packings of atoms respectively

are-

A. 1,1

B. 1,2

C. 2,1

D. 2,2

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_vciQctCnjbSZ


98. Which of the following antibiotics is used to cure

typhoid-

A. penicillin

B. chloramphenicol

C. tetracycline

D. streptomycin

Answer: B

Watch Video Solution

99. Which of the following polymers may be classified as

step growth polymer-

https://dl.doubtnut.com/l/_y5dIK2C52t55
https://dl.doubtnut.com/l/_RQ3uFh1RzMAG


A. teflon

B. PVC

C. polyethene

D. nylon 6,6

Answer: D

Watch Video Solution

100. Picric acid is-

A. 2-ntirophenol

B. 4-nitrophenol

C. 2,4-dinitrophenol

https://dl.doubtnut.com/l/_RQ3uFh1RzMAG
https://dl.doubtnut.com/l/_qmiQkVPG4tzt


D. 2,4,6-trinitrophenol

Answer: D

View Text Solution

101. Which of the following is non-ionisable-

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

[Co(NH3)3Cl3]

[Co(NH3)4Cl2]Cl

[Co(NH3)5Cl]Cl2

[Co(NH3)6]Cl3

https://dl.doubtnut.com/l/_qmiQkVPG4tzt
https://dl.doubtnut.com/l/_UKNKntMNqpbZ


102. For a dilute solution of a strong electrolyte, which of

the following facts is correct

A. the graph between  and C is linear

B. the graph between  and C is linear

C. the graph between  and  is linear

D. the graph between  and  in linear

Answer: C

Watch Video Solution

∧m

log ∧m

∧m √C

log ∧m √C

103. Which of the following interhalogen is colourless

https://dl.doubtnut.com/l/_UKNKntMNqpbZ
https://dl.doubtnut.com/l/_Dv6Ei9hV1bZ9
https://dl.doubtnut.com/l/_vn1VidGsm6Gp


A. CIF(g)

B. BrF(g)

C. BrCl(g)

D. Icl(s)

Answer: A

Watch Video Solution

104.  


Identify the type of detergent given in the above

structure.

Watch Video Solution

[CH3(CH2)15 − N(CH3)3].
⊕
Br−

https://dl.doubtnut.com/l/_vn1VidGsm6Gp
https://dl.doubtnut.com/l/_5nBzNymMx8fe
https://dl.doubtnut.com/l/_JLffDcfldttS


105. What happens when NaCl solution is added to gold

sol?

Watch Video Solution

106. Calculate spin only magnetic moment of  .

Watch Video Solution

Cu2 +

107.  is highly paramagnetic. Why?

Watch Video Solution

Fe3 +

108. Define electrochemical equivalent.

https://dl.doubtnut.com/l/_JLffDcfldttS
https://dl.doubtnut.com/l/_n0g42Lsts4Md
https://dl.doubtnut.com/l/_Z9nz7kONlQdR
https://dl.doubtnut.com/l/_B1i6G2iqDAcX


Answer The Following Question Set 2

Watch Video Solution

1. For a dilute solution containing 2.5g of a non-volatile

non-electrolyte solute in 100g of water, the elevation in

boiling point at 1 atm pressure is . Assuming

concentration of solute is much lower than the

concentration of solvent, the vapour pressure (mm of Hg)

of the solution is (take =0.76 K kg )

Watch Video Solution

2∘ C

Kb mol − 1

https://dl.doubtnut.com/l/_B1i6G2iqDAcX
https://dl.doubtnut.com/l/_cL4dl203OA42


2. On hydrolysis,  gives  and HOCl while 

gives  and HCl - explain.

View Text Solution

NCl3 NH3 PCl3

H3PO3

3. Define the term peptisation and mention its use

Watch Video Solution

4. Explain the effect of temperature on the extent of

physical and chemical adsorption.

Watch Video Solution

https://dl.doubtnut.com/l/_iU04yC6mxgv4
https://dl.doubtnut.com/l/_NT6DiXbVutNU
https://dl.doubtnut.com/l/_vbIfEThSOSBQ
https://dl.doubtnut.com/l/_KWqZWg23PnP2


5. Explain the magnetic behaviour with geometrical shape

of  and 

Watch Video Solution

[NiCl4]2 − [Ni(CN)4]
2 −

6. What is the role of t-butyl peroxide in the

polymerisation of ethene?

View Text Solution

7. What is biodegradable polymer? Give example.

Watch Video Solution

https://dl.doubtnut.com/l/_KWqZWg23PnP2
https://dl.doubtnut.com/l/_V1pJ5TxZv6um
https://dl.doubtnut.com/l/_MGH6lR4ocgOA


8. Calculate packing efficiency of bcc lattice

Watch Video Solution

9. How much space is empty in a hexagonal closed packed

solid?

Watch Video Solution

10. Write down van't Hoff equation of osmotic pressure.

Watch Video Solution

https://dl.doubtnut.com/l/_VLaiUHVFzr11
https://dl.doubtnut.com/l/_lhc1yvCjT71r
https://dl.doubtnut.com/l/_XLRKRL5JDkIt


11. The osmotic pressure of an aqueous solution of urea is

500 mm Hg at 42°C. The solution after dilution at 42°C

exerts an osmotic pressure of 150mm Hg. How many

times is the solution diluted?

Watch Video Solution

12. How many grams of chlorine can be produced by the

electrolysis of molten NaCl with a current of 1.02A for 15

minutes?

Watch Video Solution

https://dl.doubtnut.com/l/_jvWdeseDXzZV
https://dl.doubtnut.com/l/_rapB6YLQGovF


13. Write two differences between potential difference

and EMF.

Watch Video Solution

14. In a conductive cell, at 298K, the resistance of 0.05M

NaOH solution is 31.16. Ifthe cell constant of that cell is

0.367`cm^(-1) , then calculate molar conductance of the

given solution.

Watch Video Solution

15. Why is copper extracted by self reduction? Write down

the chemical reaction.

https://dl.doubtnut.com/l/_coMgfXpDl9eS
https://dl.doubtnut.com/l/_7HZCk9tjL5ef
https://dl.doubtnut.com/l/_Ybawlrrkda0r


Watch Video Solution

16. What is thermit mixture?

Watch Video Solution

17. With the same d-orbital configuration,  is a

reducing agent while  is an oxidising agent.Explain.

Watch Video Solution

Cr2 +

Mn3 +

18. Write down disproportionation reaction of  ion

Watch Video Solution

Cu+

https://dl.doubtnut.com/l/_Ybawlrrkda0r
https://dl.doubtnut.com/l/_j2VWaVsSJATD
https://dl.doubtnut.com/l/_dhSvU6dpjbNh
https://dl.doubtnut.com/l/_RzBGSW7aWfaB


19. Why do lanthanides show usually +3 oxidation state?

Watch Video Solution

20. Write the structure of chlorophenylmethane.

Watch Video Solution

21. Identify A to D 

View Text Solution

https://dl.doubtnut.com/l/_ppEk6JThVxyg
https://dl.doubtnut.com/l/_CIjwdxzRFtfZ
https://dl.doubtnut.com/l/_9yHFp3uJQPtg


22. Write IUPAC name and structure of DDT.

Watch Video Solution

23. Write a short note on Kolbe-Schmitt reaction.

Watch Video Solution

24. What is power alcohol?

Watch Video Solution

https://dl.doubtnut.com/l/_RSvsj8JOQruv
https://dl.doubtnut.com/l/_tXZdHWeoXoHA
https://dl.doubtnut.com/l/_QvwwtwHqGgBn


25. Identify A and B 

View Text Solution

26. Convert: 

Nitromethane to dimethylamine

Watch Video Solution

27. Convert: 

Nitrobenzene to p-dinitrobenzene

Watch Video Solution

https://dl.doubtnut.com/l/_aEpu7L4UtI4X
https://dl.doubtnut.com/l/_CMHRzmBJwGII
https://dl.doubtnut.com/l/_looDgIQ8UkSj


28. Why is Mulliken-Barker test not applicable for

detection of nitro group in m-nitrobenzaldehyde?

View Text Solution

29. Give an example of achiral amino acid and its

structure.

Watch Video Solution

30. How does glucose react with Tollen's reagent?

Watch Video Solution

https://dl.doubtnut.com/l/_DP3ug5F5YINo
https://dl.doubtnut.com/l/_a1NrPYQ33Lw8
https://dl.doubtnut.com/l/_aG1RakfuTtSD
https://dl.doubtnut.com/l/_B1FngLndSBt0


31. How does adenine bind with uracil in RNA?

View Text Solution

32. What do you understand by order a reaction?

Watch Video Solution

33. How does rate law differ from law of mass action?

Watch Video Solution

34. Give two examples of each of reactions of zero order,

first order and second order.

https://dl.doubtnut.com/l/_B1FngLndSBt0
https://dl.doubtnut.com/l/_p8gUitLClnXY
https://dl.doubtnut.com/l/_SPv13QeFKSls
https://dl.doubtnut.com/l/_ZHAqp9KcAwWE


Watch Video Solution

35. For a first order reaction, the rate constant (k) is 1.25 X

104 represented as-logk  


Calculate activation energy and Arrhenius factor. At which

temperature, the half life of the reaction would be 256

min.

Watch Video Solution

= 14.34 −
1.25 × 104

T

36. Why cannot we prepare HBr by heating KBr with

 ?

Watch Video Solution

H2SO4

https://dl.doubtnut.com/l/_ZHAqp9KcAwWE
https://dl.doubtnut.com/l/_0rrCYM9nL22V
https://dl.doubtnut.com/l/_abs1SdNWF9gI
https://dl.doubtnut.com/l/_KTB1nBaJ0hQf


37. Why does  dimerise to form  ?

Watch Video Solution

NO2 N2O4

38. Write with balanced chemical equation what happens

when 

(a) Iodine is treated with conc. 

Watch Video Solution

HNO3

39. Write with balanced chemical equation what happen

when- 

https://dl.doubtnut.com/l/_KTB1nBaJ0hQf
https://dl.doubtnut.com/l/_Kago1cq3jwIH
https://dl.doubtnut.com/l/_Y3uNc4pKPVOW


(b) Water is added slowly to the mixture of red P and

iodine.

Watch Video Solution

40. Why cannot formaldehyde be prepared by

Rossenmund reduction?

Watch Video Solution

41. Convert: Cyanobenzene to Cinnamaldehyde

View Text Solution

https://dl.doubtnut.com/l/_Y3uNc4pKPVOW
https://dl.doubtnut.com/l/_qlQ5uHxnwMC5
https://dl.doubtnut.com/l/_hZGv3CbAOYLd


42. Convert: Benzaldehyde to Malachite green.

Watch Video Solution

43. What is Brady's reagent? Mention its use

Watch Video Solution

44. Identiy A to H: 

View Text Solution

https://dl.doubtnut.com/l/_7xlmOsDrEu93
https://dl.doubtnut.com/l/_0i8yQeMxoTAY
https://dl.doubtnut.com/l/_kkU7yzgbmxWH


45. Which of the following is not a food preservative-

A. sodium benzoate

B. sodium Sulphite

C. Sorbic acid

D. salts of palmitic acid

Answer: D

Watch Video Solution

46. Kwashiorkor is caused by the deficiency of-

A. vitamins

https://dl.doubtnut.com/l/_qwKufem3j6Bv
https://dl.doubtnut.com/l/_krWXuyVLdjwN


B. hormones

C. amino acids

D. essential amino acids

Answer: D

View Text Solution

47. Among the following acids, which has the lowest 

value-

A. 

B. 

C. 

pKa

(CH3)2CHCO2H

C2H5CO2H

CH3CO2H

https://dl.doubtnut.com/l/_krWXuyVLdjwN
https://dl.doubtnut.com/l/_4leQIKIIrDZh


D. 

Answer: D

View Text Solution

HCO2H

48. The major product formed when 1,1,1 trichloropropane

is treated with aq-KOH is-

A. Propyne

B. 1-propanol

C. 2-propanol

D. propionic acid

Answer: D

https://dl.doubtnut.com/l/_4leQIKIIrDZh
https://dl.doubtnut.com/l/_ka7ODHbUWHKh


Watch Video Solution

49. The coordination number of an atom in ccp lattice is-

A. 4

B. 12

C. 8

D. 12

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_ka7ODHbUWHKh
https://dl.doubtnut.com/l/_VIGapYX2Nywr


50. If  of calomel electrode  is

0.27V, its potential when KCl=0.01 M would be-

A. 0.25V

B. 0.26V

C. 0.276V

D. 0.286V

Answer: C

View Text Solution

E0 (C o− |Hg2Cl2|Pt ∣ ]

51. Which of the following represents an associated

colloids-

https://dl.doubtnut.com/l/_msbRBSQSw5Zu
https://dl.doubtnut.com/l/_1chrbEAjDeyU


A. sol of gold

B. starch

C. proteins

D. soaps

Answer: D

Watch Video Solution

52. The complex  involves hybridisation of

A. 

B. 

C. 

[Ni(NH3)6]
2 +

sp3

dsp3

sp3d2

https://dl.doubtnut.com/l/_1chrbEAjDeyU
https://dl.doubtnut.com/l/_1yfxTaHwE6IW


D. 

Answer: C

Watch Video Solution

d2sp3

53. The anhydride of  is-

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

HClO4

ClO
−
4

Cl2O7

ClO2

ClO3

https://dl.doubtnut.com/l/_1yfxTaHwE6IW
https://dl.doubtnut.com/l/_8apjbH0DfLT8


54. The compound that gives a positive iodoform test is-

A. 1-pentanol

B. 2-pentanone

C. 3-pentanone

D. pentanal

Answer: B

Watch Video Solution

55. The complete hydrolysis of a nitrile produces-

https://dl.doubtnut.com/l/_8apjbH0DfLT8
https://dl.doubtnut.com/l/_TfcPACS4j2wf
https://dl.doubtnut.com/l/_wXWYMyaPNYiv


A. acid

B. amide

C. amine

D. ester

Answer: A

Watch Video Solution

56. Which of the following polymers doesnot involve

cross-linkages-

A. bakelite

B. melamine

https://dl.doubtnut.com/l/_wXWYMyaPNYiv
https://dl.doubtnut.com/l/_tfdOnfgMimF4


C. polyethene

D. vulcanised rubber

Answer: C

View Text Solution

57. Aminoglycosides are usually used as-

A. antibiotic

B. analgesic

C. hypnotic

D. antifertility

Answer: A

https://dl.doubtnut.com/l/_tfdOnfgMimF4
https://dl.doubtnut.com/l/_PsU83J80nEcy


Watch Video Solution

58. Express the relation between conductivity and molar

conductivity of a solution held in a cell.

Watch Video Solution

59. Milk is an emulsion. Identify the dispersed phase and

the emulsifier in milk.

Watch Video Solution

60. What do you mean by the term 'Tyndall effect'?

Watch Video Solution

https://dl.doubtnut.com/l/_PsU83J80nEcy
https://dl.doubtnut.com/l/_WylhOAlMRhIS
https://dl.doubtnut.com/l/_R3mdaX0vFW14
https://dl.doubtnut.com/l/_KYhik6YxE798


Watch Video Solution

61. How does soap differ from detergent?

Watch Video Solution

62. Write down the structure of paracetamol. Mention

one use of it.

Watch Video Solution

63. Why are Zr and Hf of same size?

Watch Video Solution

https://dl.doubtnut.com/l/_KYhik6YxE798
https://dl.doubtnut.com/l/_eeGNXpkxK9SD
https://dl.doubtnut.com/l/_XARhQVtgk3c8
https://dl.doubtnut.com/l/_NeGN5YjOeiMz
https://dl.doubtnut.com/l/_AATcORAk4rv0


64. For a dilute solution containing 2.5 g of a non-volatile

non-electrolyte solute in 100 g water, the elevation of

boiling point at 1 atm pressure is 2°C. Assuming

concentration of solute is much lower than the

concentration of solvent, determine the vapour pressure

(mm Hg) of the solution. [Given:  for water = 0.76K-kg-

 ]

Watch Video Solution

kb

mol− 1

65. On hydrolysis,  gives  and HOCl while 

gives  and HCl - explain.

Watch Video Solution

NCl3 NH3 PCl3

H3PO3

https://dl.doubtnut.com/l/_AATcORAk4rv0
https://dl.doubtnut.com/l/_gRT8iiWscMn1
https://dl.doubtnut.com/l/_1r1h1ZJEJvCT


66. Define the term peptisation and mention its use

Watch Video Solution

67. Explain the effect of temperature on the extent of

physical and chemical adsorption.

Watch Video Solution

68. Explain the magnetic behaviour with geometrical

shape of  and 

Watch Video Solution

[NiCl4]2 − [Ni(CN)4]
2 −

https://dl.doubtnut.com/l/_1r1h1ZJEJvCT
https://dl.doubtnut.com/l/_pND5VSC9zqMR
https://dl.doubtnut.com/l/_LwntiMSKNdeG


69. What is the role of t-butyl peroxide in the

polymerisation of ethene?

Watch Video Solution

70. What is biodegradable polymer? Give example.

Watch Video Solution

71. Why is Frenkel defect not found in pure alkali metal

halides?

Watch Video Solution

https://dl.doubtnut.com/l/_qxo9PfA0LipV
https://dl.doubtnut.com/l/_JiLo5fJ3Du6N
https://dl.doubtnut.com/l/_xNOxpoDNdS9k
https://dl.doubtnut.com/l/_XriqOEwMaXRK


72. Calculate packing efficiency of bee lattice

Watch Video Solution

73. How much space is empty in a hexagonal closed

packed solid?

Watch Video Solution

74. What makes the crystal of KCl sometimes appear pink

and how?

Watch Video Solution

https://dl.doubtnut.com/l/_XriqOEwMaXRK
https://dl.doubtnut.com/l/_476z3iW6vENE
https://dl.doubtnut.com/l/_5KRCcMhiYu1A


75. Write down van't Hoff equation of osmotic pressure.

Watch Video Solution

76. The osmotic pressure of an aqueous solution of urea

is 500 mm Hg at 42°C. The solution after dilution at 42°C

exerts an osmotic pressure of 150mm Hg. How many

times is the solution diluted?

Watch Video Solution

77. How many grams of chlorine can be produced by the

electrolysis of molten NaCl with a current of 1.02A for 15

minutes?

https://dl.doubtnut.com/l/_Q0cCGK64T2p3
https://dl.doubtnut.com/l/_F5cHbwbF0Ivo
https://dl.doubtnut.com/l/_N0qLRj1zbRX6


Watch Video Solution

78. Write two differences between potential difference

and EMF.

Watch Video Solution

79. In a conductive cell, at 298K, the resistance of 0.05M

NaOH solution is 31.16. Ifthe cell constant of that cell is

0.367`cm^(-1) , then calculate molar conductance of the

given solution.

Watch Video Solution

https://dl.doubtnut.com/l/_N0qLRj1zbRX6
https://dl.doubtnut.com/l/_2s6Y5MsRRhkr
https://dl.doubtnut.com/l/_oHn1pxr1kDOM


80. What is the use of platinum foil in the hydrogen

electrode?

Watch Video Solution

81. Why is copper extracted by self reduction? Write down

the chemical reaction.

Watch Video Solution

82. What is thermite mixture?

Watch Video Solution

https://dl.doubtnut.com/l/_VdCHnMCCJu7Q
https://dl.doubtnut.com/l/_pSztsJjayZ4r
https://dl.doubtnut.com/l/_54efCpMXW2sQ
https://dl.doubtnut.com/l/_eeWg8p4MxHrm


83. With the same d-orbital configuration,  is a

reducing agent while  is an oxidising agent.Explain.

Watch Video Solution

Cr2 +

Mn3 +

84. Write down disproportionation reaction of  ion

View Text Solution

Cu+

85. Why do lanthanides show usually +3 oxidation state?

Watch Video Solution

https://dl.doubtnut.com/l/_eeWg8p4MxHrm
https://dl.doubtnut.com/l/_IKQtfwdtjQZP
https://dl.doubtnut.com/l/_HOkws0ITB3At


86. Why do transition elements show coloured

compounds?

Watch Video Solution

87. Why do transition metals have high enthalpy of

alomisation?

Watch Video Solution

88. Write the structure of chlorophenylmethane.

Watch Video Solution

https://dl.doubtnut.com/l/_DezX46p0cGMl
https://dl.doubtnut.com/l/_inlK2G9xwKs3
https://dl.doubtnut.com/l/_sfsKfGGtOe5r
https://dl.doubtnut.com/l/_e7Z5pdvEM3Ub


89. Identify A to D 

View Text Solution

90. Why does chloroform preserve in dark coloured

bottle?

Watch Video Solution

91. Write IUPAC name and structure of DDT.

Watch Video Solution

https://dl.doubtnut.com/l/_e7Z5pdvEM3Ub
https://dl.doubtnut.com/l/_0ciDu1AdFP66
https://dl.doubtnut.com/l/_bhZYxCPlMhfO


92. Write a short note on Kolbe-Schmitt reaction.

Watch Video Solution

93. What is power alcohol?

Watch Video Solution

94. Identify A and B 

View Text Solution

https://dl.doubtnut.com/l/_ifd1scOGE2Bn
https://dl.doubtnut.com/l/_5fXr2mbZgQKg
https://dl.doubtnut.com/l/_3RFo7jpr8LHn


95. Convert: 

Nitromethane to dimethylamine

Watch Video Solution

96. Why is Mulliken-Barker test not applicable for

detection of nitro group in m-nitrobenzaldehyde?

View Text Solution

97. Give an example of achiral amino acid and its

structure.

Watch Video Solution

https://dl.doubtnut.com/l/_RukirSiEABL5
https://dl.doubtnut.com/l/_F2UiqbG4J3UN
https://dl.doubtnut.com/l/_HsipGOkX1fhJ


98. How does glucose react with Tollen's reagent?

Watch Video Solution

99. How does adenine bind with uracil in RNA?

Watch Video Solution

100. What do you understand by order a reaction?

Watch Video Solution

101. How does rate law differ from law of mass action?

h id l i

https://dl.doubtnut.com/l/_r7GDlmbgtRw3
https://dl.doubtnut.com/l/_ahMDs0SUZyLH
https://dl.doubtnut.com/l/_MdLvRVqpnMg4
https://dl.doubtnut.com/l/_RC97Yvfv77DR


Watch Video Solution

102. Give two examples of each of reactions of zero order,

first order and second order.

Watch Video Solution

103. For a first order reaction, the rate constant (k) is 1.25

X 104 represented as-logk  


Calculate activation energy and Arrhenius factor. At which

temperature, the half life of the reaction would be 256

min.

Watch Video Solution

= 14.34 −
1.25 × 104

T

https://dl.doubtnut.com/l/_RC97Yvfv77DR
https://dl.doubtnut.com/l/_HVSZuw2m35Gu
https://dl.doubtnut.com/l/_fSC9jEHXxmPA
https://dl.doubtnut.com/l/_tIrh5tXTAHTk


104. What will be the effect of temperature on rate

constant?

Watch Video Solution

105. Why cannot we prepare HBr by heating KBr with

 ?

Watch Video Solution

H2SO4

106. Why does  dimerise?

Watch Video Solution

NO2

https://dl.doubtnut.com/l/_tIrh5tXTAHTk
https://dl.doubtnut.com/l/_Ex0Wd6OAU4L3
https://dl.doubtnut.com/l/_S4qz0yXVV63E


107. Why are halogens strong oxidising agents?

Watch Video Solution

108. Write with balanced chemical equation what happens

when 

(a) Iodine is treated with conc. 

Watch Video Solution

HNO3

109. Write with balanced chemical equation what happen

when- 

https://dl.doubtnut.com/l/_zAZIMl42XDbY
https://dl.doubtnut.com/l/_f4JX1rcPFoEL
https://dl.doubtnut.com/l/_5KOXobqKF3PG


(b) Water is added slowly to the mixture of red P and

iodine.

Watch Video Solution

110. Why cannot formaldehyde be prepared by

Rossenmund reduction?

Watch Video Solution

111. Convert: Cyanobenzene to Cinnamaldehyde

Watch Video Solution

https://dl.doubtnut.com/l/_5KOXobqKF3PG
https://dl.doubtnut.com/l/_qHUUXTQV5f1s
https://dl.doubtnut.com/l/_6pVCKu2aFjWc


112. Convert: Benzaldehyde to Malachite green.

Watch Video Solution

113. What is Brady's reagent? Mention its use

Watch Video Solution

114. Identiy A to H: 

View Text Solution

https://dl.doubtnut.com/l/_zx2QPubF4tF6
https://dl.doubtnut.com/l/_AktjiWJfhtvO
https://dl.doubtnut.com/l/_4UvUJOPuJZio


115. Which of the following is not a food preservative-

A. sodium benzoate

B. sodium Sulphite

C. Sorbic acid

D. salts of propanoic acid

Answer: D

View Text Solution

116. Kwashiorkor is caused by the deficiency of-

A. vitamins

https://dl.doubtnut.com/l/_Hqc4XJvyTf0x
https://dl.doubtnut.com/l/_oxRcvdfdTfs5


B. hormones

C. amino acids

D. essential amino acids

Answer: D

View Text Solution

117. Among the following acids, which has the lowest 

value-

A. 

B. 

C. 

pKa

(CH3)2CHCO2H

C2H5CO2H

CH3CO2H

https://dl.doubtnut.com/l/_oxRcvdfdTfs5
https://dl.doubtnut.com/l/_ZvWbm76z6sbS


D. 

Answer: D

Watch Video Solution

HCO2H

118. The major product formed when 1,1,1 trichloropropane

is treated with aq-KOH is-

A. Propyne

B. 1-propanol

C. 2-propanol

D. propionic acid

Answer: B

https://dl.doubtnut.com/l/_ZvWbm76z6sbS
https://dl.doubtnut.com/l/_sXCR5sJ7vLTm


Watch Video Solution

119. The coordination number of an atom in ccp lattice is-

A. 4

B. 12

C. 8

D. 6

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_sXCR5sJ7vLTm
https://dl.doubtnut.com/l/_PLsEtRc8xXvR


120. If  of calomel electrode  is

0.27V, its potential when KCl=0.01 M would be-

A. 0.25V

B. 0.26V

C. 0.276V

D. 0.286V

Answer: C

View Text Solution

E0 (C o− |Hg2Cl2|Pt ∣ ]

121. Which of the following represents an associated

colloids-

https://dl.doubtnut.com/l/_00jOy0TnLk7w
https://dl.doubtnut.com/l/_0YjOeyb06juQ


A. sol of gold

B. starch

C. proteins

D. soaps

Answer: D

Watch Video Solution

122. The complex  involves hybridisation

of

A. 

B. 

[Ni(NH3)6]
2 +

sp3

dsp3

https://dl.doubtnut.com/l/_0YjOeyb06juQ
https://dl.doubtnut.com/l/_zbvPgs6hx4q7


C. 

D. 

Answer: C

Watch Video Solution

sp3d2

d2sp3

123. The anhydride of  is-

A. 

B. 

C. 

D. 

Answer: B

HClO4

ClO
o−
4

Cl2O7

ClO2

ClO3

https://dl.doubtnut.com/l/_zbvPgs6hx4q7
https://dl.doubtnut.com/l/_b46MrmA37n6n


Watch Video Solution

124. The compound that gives a positive iodoform test is-

A. 1-pentanol

B. 2-pentanone

C. 3-pentanone

D. pentanal

Answer: B

Watch Video Solution

125. The complete hydrolysis of a nitrile produces-

https://dl.doubtnut.com/l/_b46MrmA37n6n
https://dl.doubtnut.com/l/_TIsudFX2hZUr
https://dl.doubtnut.com/l/_jZ0yOIGrULJL


A. acid

B. amide

C. amine

D. ester

Answer: A

Watch Video Solution

126. Which of the following polymers doesnot involve

cross-linkages-

A. bakelite

B. melamine

https://dl.doubtnut.com/l/_jZ0yOIGrULJL
https://dl.doubtnut.com/l/_bpKLkvAriBAq


C. polyethene

D. vulcanised rubber

Answer: C

View Text Solution

127. Aminoglycosides are usually used as-

A. antibiotic

B. analgesic

C. hypnotic

D. antifertility

Answer: A

https://dl.doubtnut.com/l/_bpKLkvAriBAq
https://dl.doubtnut.com/l/_BIHn2VwKsML4


Watch Video Solution

128. Express the relation between conductivity and molar

conductivity of a solution held in a cell.

Watch Video Solution

129. How does soap differ from detergent?

Watch Video Solution

130. Why are Zr and Hf of same size?

Watch Video Solution

https://dl.doubtnut.com/l/_BIHn2VwKsML4
https://dl.doubtnut.com/l/_AzCOHGg2TStu
https://dl.doubtnut.com/l/_Dx95kcgEboyq
https://dl.doubtnut.com/l/_0Al1ZrO9WNro


Answer The Following Question Set 3

1. Benzene and toluene form a nearly ideal solution. At a

certain temperature, calculate the vapour pressure of

solution containing equal moles of two substances

Watch Video Solution

(Given   , p0
toluene = 55mm  Hg, p0

benzene = 150mm  Hg]

2. Mention the two necessary conditions for the

observation of Tyndall effect.

Watch Video Solution

https://dl.doubtnut.com/l/_Vx69ApEFEJZE
https://dl.doubtnut.com/l/_rL0mDgqvTIsn


3. Draw the isomeric structures of  and

write down the formula of potassium trioxalatoferrate

(III).

Watch Video Solution

[Pt(NH3)2Cl2]

4. Which are fluorinating agent oftenly used instead of 

? Write two chemical equations showing their use as

fluorinating agents.

Watch Video Solution

F2

5. Write names and structures of monomer units of

polystyrene and PAN.

https://dl.doubtnut.com/l/_nFQNbGVK1YFi
https://dl.doubtnut.com/l/_1DfZcQdgXfuC
https://dl.doubtnut.com/l/_C9Te7IOybcc1


Watch Video Solution

6. A metal crystallises into two cubic lattics fee and bee

whose edge lengths are 3.5 A and 3.0A respectively.

Calculate the ratio of densities of fee and bee lattices.

Watch Video Solution

7. Name the type of binding forces present in dry ice.

Watch Video Solution

8. Why should a solution of a non-volatile and

nonelectrolytic solute boil at a higher temperature?

https://dl.doubtnut.com/l/_C9Te7IOybcc1
https://dl.doubtnut.com/l/_SdaJgtDRsVdA
https://dl.doubtnut.com/l/_QII6pwCR6gJ2
https://dl.doubtnut.com/l/_pRMAmRgiBHDf


Explain with the help of diagram

Watch Video Solution

9. Derive the relation between molar mass of solute and

elevation of boiling point

Watch Video Solution

10. The degree of dissociation of  in a dilute

aqueous solution, containing 7.0g of salt per 100 g of

water at 100° C is 70%. It the vapour pressure of water at

100°C is 760 mm Hg, calculate the vapour pressure of the

solution.

Watch Video Solution

Ca(NO3)2

https://dl.doubtnut.com/l/_pRMAmRgiBHDf
https://dl.doubtnut.com/l/_EECS2hbWqbb7
https://dl.doubtnut.com/l/_E4XmoXtBaWoQ


Watch Video Solution

11. Under what condition normality and molarity of a

solution become identical?

Watch Video Solution

12. For a standard cell, 

 


 


Identify the cathode and anode as the current is drawn

from the cell.

Watch Video Solution

Cu(s)∣∣Cu
2 + (0.01M)∣∣∣∣Ag

+ (0.02M)∣∣Ag(s)

E0
Cu2 + ∣Cu = + 0.34V , E0

Ag + /Ag = + 0.80V

https://dl.doubtnut.com/l/_E4XmoXtBaWoQ
https://dl.doubtnut.com/l/_7V8k1R4yaUEB
https://dl.doubtnut.com/l/_NH1tFQC4JfpU
https://dl.doubtnut.com/l/_39LtAz29j1c1


13. For a standard cell, 

 


 


Write the reactions taking place at the electrodes.

View Text Solution

Cu(s)∣∣Cu
2 + (0.01M)∣∣∣∣Ag

+ (0.02M)∣∣Ag(s)

E0
Cu2 + ∣Cu = + 0.34V , E0

Ag + /Ag = + 0.80V

14. For a standard cell, 

 


 


Calculate EMF of the cell at .

Watch Video Solution

Cu(s)∣∣Cu
2 + (0.01M)∣∣∣∣Ag

+ (0.02M)∣∣Ag(s)

E0
Cu2 + ∣Cu = + 0.34V , E0

Ag + /Ag = + 0.80V

25∘C

https://dl.doubtnut.com/l/_39LtAz29j1c1
https://dl.doubtnut.com/l/_XnsRtd4uy534


15. Why is cryolite added with alumina during extraction

of aluminium?

Watch Video Solution

16. Describe the oxidising action of potassium di

chromate in  solution with the following- 


(i)  


(ii)  


(iii) NaCl

Watch Video Solution

H2SO4

H2S

Na2S2O3

https://dl.doubtnut.com/l/_sdMhzgaJFWVH
https://dl.doubtnut.com/l/_9db6LY3zAJ96


17. Identify A to F: 

View Text Solution

18. What is the function of anhydrous ZnCl2 in Lucas test

for distinction between  ,  and  alcohols?

View Text Solution

1∘ 2∘ 3∘

19. An ether A  when heated with excess hot

concentrated HI produced two alkyl halides which on

hydrolysis give B and C. Oxidation of B gives an acid D

whereas oxidation of C gives ketone E. Both B and C give

(C5H12O)

https://dl.doubtnut.com/l/_j6bsMabHh529
https://dl.doubtnut.com/l/_lj6YKxBtGfUY
https://dl.doubtnut.com/l/_tS4PYOhUi9dW


haloform reaction. Identify A to E along with their

structures and the given reactions.

Watch Video Solution

20. An organic compound A  is used as a solvent

of choice for many organic reactions because it is not

reactive in mild acidic and basic conditions. Compound A

on treatment with  forms B. When B is treated

with nitrous acid at 273K, ethanol is obtained. When B is

warmed with chloroform and NaOH, a foul smelling

compound C is formed. Identify A to C along with their

structures and given reactions.

View Text Solution

(C2H3N)

Ni/H2

https://dl.doubtnut.com/l/_tS4PYOhUi9dW
https://dl.doubtnut.com/l/_iocDqvOcbCTh


21. Convert: Cyanobenzene to Cinnamic acid

Watch Video Solution

22. Identify A to F: 

 

The two strands in DNA are not identical but

complementary. Explain.

View Text Solution

23. Identify A to J: 

View Text Solution

https://dl.doubtnut.com/l/_WjmIJ6bBS59w
https://dl.doubtnut.com/l/_oovlX1eIaMgg
https://dl.doubtnut.com/l/_ELFrBq9S6Xt9


24. Identify A to J: 

Watch Video Solution

CH3CH2CO2H
( i ) I2 / RedP
−−−−−−−→

( ii )H2O
B

25. Identify A to J: 

View Text Solution

CH3CHO
dil .NaOH
−−−−−→ C

△

−−→ D

26. Identify A to J: 

h id l i

CH3COCH3
conc .H2SO4
−−−−−−→ E

https://dl.doubtnut.com/l/_ELFrBq9S6Xt9
https://dl.doubtnut.com/l/_dVrNuWwY6f9r
https://dl.doubtnut.com/l/_F7HIXDSv8HhG
https://dl.doubtnut.com/l/_UbsduIDQFNeo


Watch Video Solution

27. Identify A to J: 

Watch Video Solution

CH3COCl
( i )CH2N2

−−−−−−−−−−−→
( ii )H2O/Ag ∅ / □

F

28. Identify A to J: 

View Text Solution

29. Identify A to J: 

https://dl.doubtnut.com/l/_UbsduIDQFNeo
https://dl.doubtnut.com/l/_zljtTnS2eAD4
https://dl.doubtnut.com/l/_F6p8l8d9e7RO
https://dl.doubtnut.com/l/_5DHGSNvCoyoB


View Text Solution

30. Identify A to J: 

View Text Solution

31. (i) Identify A to F: 

View Text Solution

(CH3COO)2Ca
△

−−→ A
NH2NH2 /HCl

−−−−−−−−−→
CH3COONa/ △

B

32. (i) Identify A to F: 

CH3COCH3

( i )Mg−Hg / dry ether
−−−−−−−−−−−−−→

( ii ) dil .HCl
C

https://dl.doubtnut.com/l/_5DHGSNvCoyoB
https://dl.doubtnut.com/l/_iB1rmR1fJhAX
https://dl.doubtnut.com/l/_2nx7PmCTZxWQ
https://dl.doubtnut.com/l/_9dmTAM7gEokM


View Text Solution

33. (i) Identify A to F: 

View Text Solution

CH3CN
LiAlH4
−−−→ D

34. (i) Identify A to F: 

View Text Solution

CH3CHO
aq .KCN
−−−−→ E

H3O
+

−−−→ F

35. Convert: 

https://dl.doubtnut.com/l/_9dmTAM7gEokM
https://dl.doubtnut.com/l/_16t9tDkqiRYF
https://dl.doubtnut.com/l/_4AUubl9yARp1
https://dl.doubtnut.com/l/_M7Berdbpdlny


View Text Solution

36. . For the given

reaction, the relative order of the reaction with respect to

A, B and C are one, two and zero respectively. Write down

the rate of the reaction in differential form. What would

be rate of reaction if concentration of A, B and C are

doubled?

Watch Video Solution

3A + 2B + C → C → D + E

37. Why chlorine is not the most powerful oxidising agent

inspite of its highest value of electron gain enthalpy?

Watch Video Solution

https://dl.doubtnut.com/l/_M7Berdbpdlny
https://dl.doubtnut.com/l/_9nSt81PI9FyW
https://dl.doubtnut.com/l/_1uzfdKLtKKIO


38. Bond angle in  is  while that of  is  .

Explain.

Watch Video Solution

NH3 107∘ PH3 94∘

39.  is chemically inactive. Explain.

Watch Video Solution

SF6

40. Draw dipolar structure of ozone.

Watch Video Solution

https://dl.doubtnut.com/l/_1uzfdKLtKKIO
https://dl.doubtnut.com/l/_hdnEI7exRz3c
https://dl.doubtnut.com/l/_me2uI5wdfHrj
https://dl.doubtnut.com/l/_185alLOUduD3
https://dl.doubtnut.com/l/_gzYtU15tJrny


41.  can dimerise but  cannot. Explain with

structure.

View Text Solution

P2O5 N2O5

42. Give an example of a compound where bismuth shows

+ 5 oxidation state.

Watch Video Solution

43. Write down the compound of group 18 which was first

prepared.

Watch Video Solution

https://dl.doubtnut.com/l/_gzYtU15tJrny
https://dl.doubtnut.com/l/_gBUoVIyYuzmG
https://dl.doubtnut.com/l/_zEjIMVooYS4P
https://dl.doubtnut.com/l/_0oU5qTe5lLPB


44. Closest packing of atoms in cubic system, the number

of atoms surrounding an atom in one layer is-

A. 2

B. 4

C. 6

D. 8

Answer: B

Watch Video Solution

45. Which of the following ions if reduced under standard

conditions, will have negative reduction potential-

https://dl.doubtnut.com/l/_0oU5qTe5lLPB
https://dl.doubtnut.com/l/_CeK0TSzkB1MK


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Cu2 +

Zn2 +

Au3 +

Hg2 +
2

46. The diameters of colloidal particles may range from-

A. 1 to 1000 nm

B. 10 to 100 pm

C. 10 to 100 nm

https://dl.doubtnut.com/l/_CeK0TSzkB1MK
https://dl.doubtnut.com/l/_9CMxc0H18zal


D. 1 to 100 nm

Answer: A

View Text Solution

47. The pseudohalogen amongst the following is-

A. NO

B. CO

C. 

D. 

Answer: D

Watch Video Solution

Cl2

C2N2

https://dl.doubtnut.com/l/_9CMxc0H18zal
https://dl.doubtnut.com/l/_tczPx1WXE0zV


48. The common oxidation sta te of lanthanides and

actinides is-

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

+1

+2

+3

+4

https://dl.doubtnut.com/l/_tczPx1WXE0zV
https://dl.doubtnut.com/l/_iIEMXWUE2iqO


49. The following square planar complex shows cis-trans

isomerism-

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

[PtCl4]2 −

[PtCl3NH3] −

[PtCl2(CN)2]
2 −

[PtCl2en]

50. Which of the following factor does not favour ,

elimination in alkyl chloride-

SN1

https://dl.doubtnut.com/l/_zVyeKSYtBhJT
https://dl.doubtnut.com/l/_R0aBDwqy5x2a


A. stablility of 

B. steric hindrance

C. protic Solvent

D. aprotic Solvent

Answer: D

View Text Solution

R⊕

51. A primary alcohol can be oxidised to an aldehyde by

choosing the reagent-

A. 

B. 

KMnO4, HO⊕

K2Cr2O7, H ⊕

https://dl.doubtnut.com/l/_R0aBDwqy5x2a
https://dl.doubtnut.com/l/_0r9f86VyA16M


C. 

D. 

Answer: C

Watch Video Solution

C5H5NH ⊕CrO3Cl
o−

O3

52. when acetaldehyde is heated with Fehling's solution, it

gives a precipitate of-

A. Cu

B. CuO

C. 

D. 

Cu2O

Cu + Cu2O + CuO

https://dl.doubtnut.com/l/_0r9f86VyA16M
https://dl.doubtnut.com/l/_OUdTmQvSnqHK


Answer: C

Watch Video Solution

53. Which of the following polymers may be classified as

step growth polymer?

A. teflon

B. PVC

C. polyethene

D. nylon 6,6

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_OUdTmQvSnqHK
https://dl.doubtnut.com/l/_mpgTMJ6pHgTz


54. Which of the following is not the male sex hormone-

A. testosterone

B. dihydrotestosterone

C. androgens

D. estrogens

Answer: D

View Text Solution

55. Which of the following is antipyretic-

A. aspirin

https://dl.doubtnut.com/l/_mpgTMJ6pHgTz
https://dl.doubtnut.com/l/_9XETudcZSoC1
https://dl.doubtnut.com/l/_j6vu1crjZQWt


B. narcotics

C. phenol

D. chloroform

Answer: A

Watch Video Solution

56. Allergy in the body is caused by the production of-

A. vitamins

B. harmone

C. histamine

D. ezymes

https://dl.doubtnut.com/l/_j6vu1crjZQWt
https://dl.doubtnut.com/l/_Y9h6ormjNKxP


Answer: C

View Text Solution

57. Write down the structure of  .

Watch Video Solution

Fe2Cl6

58. Calculate spin only magnetic moment of  ion.

Watch Video Solution

Ni2 +

59. Name an antiseptic which is dye.

Watch Video Solution

https://dl.doubtnut.com/l/_Y9h6ormjNKxP
https://dl.doubtnut.com/l/_qOj0rEG0hMSr
https://dl.doubtnut.com/l/_ObPauxjJHOV0
https://dl.doubtnut.com/l/_oUPoemQCNiWm


60. Which forces are involved in holding the drugs to

active sides of drugs?

View Text Solution

61. Benzene and toluene form a nearly ideal solution. At a

certain temperature, calculate the vapour pressure of

solution containing equal moles of two substances

Watch Video Solution

(Given   , p0
toluene = 55mm  Hg, p0

benzene = 150mm  Hg]

https://dl.doubtnut.com/l/_oUPoemQCNiWm
https://dl.doubtnut.com/l/_QXjBI9IBeCCG
https://dl.doubtnut.com/l/_N07iAPem2CDg


62. Why does the mixture of acetone and chloroform

show negative deviation from Raoult's law?

Watch Video Solution

63. Mention the two necessary conditions for the

observation of Tyndall effect.

Watch Video Solution

64. How does EDTA help as a cure for lead poisoning?

Watch Video Solution

https://dl.doubtnut.com/l/_j5IDawqjAjlR
https://dl.doubtnut.com/l/_S2HVOtSmoxVs
https://dl.doubtnut.com/l/_20q6cUNgUDQj
https://dl.doubtnut.com/l/_SIdNtYdX9ZbB


65. Draw the isomeric structures of  and

write down the formula of potassium trioxalatoferrate

(III).

Watch Video Solution

[Pt(NH3)2Cl2]

66. Which are fluorinating agent oftenly used instead of

 ? Write two chemical equations showing their use as

fluorinating agents.

Watch Video Solution

F2

67. Write names and structures of monomer units of

polystyrene and PAN.

W t h Vid S l ti

https://dl.doubtnut.com/l/_SIdNtYdX9ZbB
https://dl.doubtnut.com/l/_srt27yIkOYf4
https://dl.doubtnut.com/l/_Ps0nfQ7kq09P


Watch Video Solution

68. A metal crystallises into two cubic lattics fee and bee

whose edge lengths are 3.5 A and 3.0A respectively.

Calculate the ratio of densities of fee and bee lattices.

Watch Video Solution

69. Name the type of binding forces present in dry ice.

View Text Solution

70. Why should a solution of a non-volatile and

nonelectrolytic solute boil at a higher temperature?

https://dl.doubtnut.com/l/_Ps0nfQ7kq09P
https://dl.doubtnut.com/l/_la9rvBsZUqwI
https://dl.doubtnut.com/l/_nGkOXGVKpZFg
https://dl.doubtnut.com/l/_8hERAysqljni


Explain with the help of diagram

Watch Video Solution

71. Derive the relation between molar mass of solute and

elevation of boiling point

Watch Video Solution

72. The degree of dissociation of  in a dilute

aqueous solution, containing 7.0g of salt per 100 g of

water at 100° C is 70%. It the vapour pressure of water at

100°C is 760 mm Hg, calculate the vapour pressure of the

solution.

Watch Video Solution

Ca(NO3)2

https://dl.doubtnut.com/l/_8hERAysqljni
https://dl.doubtnut.com/l/_TZVjB8zzgLdS
https://dl.doubtnut.com/l/_xje1ZVCvDvL9


Watch Video Solution

73. Under what condition normality and molarity of a

solution become identical?

Watch Video Solution

74. For a standard cell, 

 


 


Identify the cathode and anode as the current is drawn

from the cell.

Watch Video Solution

Cu(s)∣∣Cu
2 + (0.01M)∣∣∣∣Ag

+ (0.02M)∣∣Ag(s)

E0
Cu2 + ∣Cu = + 0.34V , E0

Ag + /Ag = + 0.80V

https://dl.doubtnut.com/l/_xje1ZVCvDvL9
https://dl.doubtnut.com/l/_OmWPwsS7mqFI
https://dl.doubtnut.com/l/_8yFhJ0O31DZp
https://dl.doubtnut.com/l/_3exoyu4GsT8N


75. For a standard cell, 

 


 


Write the reactions taking place at the electrodes.

Watch Video Solution

Cu(s)∣∣Cu
2 + (0.01M)∣∣∣∣Ag

+ (0.02M)∣∣Ag(s)

E0
Cu2 + ∣Cu = + 0.34V , E0

Ag + /Ag = + 0.80V

76. For a standard cell, 

 


 


Calculate EMF of the cell at .

Watch Video Solution

Cu(s)∣∣Cu
2 + (0.01M)∣∣∣∣Ag

+ (0.02M)∣∣Ag(s)

E0
Cu2 + ∣Cu = + 0.34V , E0

Ag + /Ag = + 0.80V

25∘C

https://dl.doubtnut.com/l/_3exoyu4GsT8N
https://dl.doubtnut.com/l/_KColy2w4VDo1


77. Write anode and cathode reactions of  fuel

cell.

Watch Video Solution

H2 − O2

78. How do electrochemical reactions occur in dry cell?

Watch Video Solution

79. What is the use of Pt-foil in the hydrogen electrode?

Watch Video Solution

https://dl.doubtnut.com/l/_3bjo0ySDV9bH
https://dl.doubtnut.com/l/_ANgRvNKyHlLa
https://dl.doubtnut.com/l/_9bnq9IuEcJMY


80. Why are sulphide ores concentrated by froth

floatation process?

Watch Video Solution

81. What is poling?

Watch Video Solution

82. Why is cryolite added with alumina during extraction

of aluminium?

Watch Video Solution

https://dl.doubtnut.com/l/_Ivlidln0Dusf
https://dl.doubtnut.com/l/_bH7eVMqew9WO
https://dl.doubtnut.com/l/_MHtufjh2zY5b
https://dl.doubtnut.com/l/_dSPiRHIzFQwu


83. Describe the oxidising action of potassium di

chromate in  solution with the following- 


(i)  


(ii)  


(iii) NaCl

View Text Solution

H2SO4

H2S

Na2S2O3

84. Identify A to F: 

View Text Solution

85. What is the function of anhydrous ZnCl2 in Lucas test

for distinction between  ,  and  alcohols?1∘ 2∘ 3∘

https://dl.doubtnut.com/l/_dSPiRHIzFQwu
https://dl.doubtnut.com/l/_APCfhDxZg0kI
https://dl.doubtnut.com/l/_Sqt76Dc4UapD


Watch Video Solution

86. Give reason for the following: (a) p-nitrophenol is

more acidic than o-nitrophenol. (b) Phenol is more

reactive towards electrophilic substitution reaction than

benzene.

Watch Video Solution

87. An ether A  when heated with excess hot

concentrated HI produced two alkyl halides which on

hydrolysis give B and C. Oxidation of B gives an acid D

whereas oxidation of C gives ketone E. Both B and C give

(C5H12O)

https://dl.doubtnut.com/l/_Sqt76Dc4UapD
https://dl.doubtnut.com/l/_q9qIFmGkxhyt
https://dl.doubtnut.com/l/_0Mro4VsimDRC


haloform reaction. Identify A to E along with their

structures and the given reactions.

Watch Video Solution

88. An organic compound A  is used as a solvent

of choice for many organic reactions because it is not

reactive in mild acidic and basic conditions. Compound A

on treatment with Ni/  fo rms B. When B is treated with

nitrous acid at 273K, ethanol is obtained. When B is

warmed with chloroform and NaOH, a foul smelling

compound C is formed. Identify A to C along with their

structures and given reactions.

Watch Video Solution

(C2H3N)

H2

https://dl.doubtnut.com/l/_0Mro4VsimDRC
https://dl.doubtnut.com/l/_7ucE8kQOCDxx


89. Convert: Cyanobenzene to Cinnamic acid

Watch Video Solution

90. Identify A to F: 

 

The two strands in DNA are not identical but

complementary. Explain.

View Text Solution

91. Identify A to J: 

View Text Solution

https://dl.doubtnut.com/l/_OGqe9Qa6Uv1n
https://dl.doubtnut.com/l/_WIZd7uQm4Zwn
https://dl.doubtnut.com/l/_kDV0tQGMKr2D


92. Identify A to J: 

View Text Solution

CH3CH2CO2H
( i ) I2 / RedP
−−−−−−−→

( ii )H2O
B

93. Identify A to J: 

Watch Video Solution

CH3CHO
dil .NaOH
−−−−−→ C

△

−−→ D

94. Identify A to J: 

h id l i

CH3COCH3
conc .H2SO4
−−−−−−→ E

https://dl.doubtnut.com/l/_kDV0tQGMKr2D
https://dl.doubtnut.com/l/_fzn4x9YT2prA
https://dl.doubtnut.com/l/_OAttgodaxqAh
https://dl.doubtnut.com/l/_pCQ023rFve5m


Watch Video Solution

95. Identify A to J: 

Watch Video Solution

CH3COCl
( i )CH2N2

−−−−−−−−−−−→
( ii )H2O/Ag ∅ / □

F

96. Identify A to J: 

View Text Solution

97. Identify A to J: 

https://dl.doubtnut.com/l/_pCQ023rFve5m
https://dl.doubtnut.com/l/_SfLNmIlku1e2
https://dl.doubtnut.com/l/_PaTLWX4aAVeW
https://dl.doubtnut.com/l/_hkVm1nbp7boz


View Text Solution

98. Identify A to J: 

View Text Solution

99. (i) Identify A to F: 

Watch Video Solution

(CH3COO)2Ca
△

−−→ A
NH2NH2 /HCl

−−−−−−−−−→
CH3COONa/ △

B

100. (i) Identify A to F: 

CH3COCH3

( i )Mg−Hg / dry ether
−−−−−−−−−−−−−→

( ii ) dil .HCl
C

https://dl.doubtnut.com/l/_hkVm1nbp7boz
https://dl.doubtnut.com/l/_0ls63pHOVDsk
https://dl.doubtnut.com/l/_7XxGXiFQZ42Z
https://dl.doubtnut.com/l/_Ld9ER7WuHs7G


Watch Video Solution

101. (i) Identify A to F: 

Watch Video Solution

CH3CN
LiAlH4
−−−→ D

102. (i) Identify A to F: 

Watch Video Solution

CH3CHO
aq .KCN
−−−−→ E

H3O
+

−−−→ F

103. Convert: 

https://dl.doubtnut.com/l/_Ld9ER7WuHs7G
https://dl.doubtnut.com/l/_6CB2uQe78r6I
https://dl.doubtnut.com/l/_dhOR0IckHyQ4
https://dl.doubtnut.com/l/_n8w8m0NJ0INU


View Text Solution

104. . For the given

reaction, the relative order of the reaction with respect to

A, B and C are one, two and zero respectively. Write down

the rate of the reaction in differential form. What would

be rate of reaction if concentration of A, B and C are

doubled?

Watch Video Solution

3A + 2B + C → C → D + E

105. Why chlorine is not the most powerful oxidising

agent inspite of its highest value of electron gain

enthalpy?

https://dl.doubtnut.com/l/_n8w8m0NJ0INU
https://dl.doubtnut.com/l/_qghu0YaOYrnR
https://dl.doubtnut.com/l/_IjQqjnS2VFxQ


Watch Video Solution

106. Bond angle in  is  while that of  is  .

Explain.

Watch Video Solution

NH3 107∘ PH3 94∘

107.  is chemically inactive. Explain.

Watch Video Solution

SF6

108. Draw dipolar structure of ozone.

Watch Video Solution

https://dl.doubtnut.com/l/_IjQqjnS2VFxQ
https://dl.doubtnut.com/l/_DhlnhqtnNwdZ
https://dl.doubtnut.com/l/_M2zqFlDGrPCV
https://dl.doubtnut.com/l/_ESB33ErAvHCq


109.  can dimerise but  cannot. Explain with

structure.

Watch Video Solution

P2O5 N2O5

110. Give an example of a compound where bismuth

shows + 5 oxidation state.

Watch Video Solution

111. Write down the compound of group 18 which was first

prepared.

View Text Solution

https://dl.doubtnut.com/l/_Chkho9e8k4fN
https://dl.doubtnut.com/l/_pQmUOqSQ5yhb
https://dl.doubtnut.com/l/_iePeZ3u9VR8e


112. Closest packing of atoms in cubic system, the number

of atoms surrounding an atom in one layer is-

A. 2

B. 4

C. 6

D. 8

Answer: B

Watch Video Solution

113. Which of the following ions if reduced under

standard conditions, will have negative reduction

https://dl.doubtnut.com/l/_0ITygV4YjiZS
https://dl.doubtnut.com/l/_uLwWErLOknoU


potential-

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Cu2 +

Zn2 +

Au3 +

Hg2 +
2

114. The diameters of colloidal particles may range from-

A. 1 to 1000 nm

B. 10 to 100 pm

https://dl.doubtnut.com/l/_uLwWErLOknoU
https://dl.doubtnut.com/l/_h7mCBeCthvSw


C. 10 to 100 nm

D. 1 to 100 nm

Answer: A

Watch Video Solution

115. The pseudohalogen amongst the following is-

A. NO

B. CO

C. 

D. 

Answer: D

Cl2

C2N2

https://dl.doubtnut.com/l/_h7mCBeCthvSw
https://dl.doubtnut.com/l/_Zk89K5bW1G8h


View Text Solution

116. The common oxidation sta te of lanthanides and

actinides is-

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

+1

+2

+3

+4

https://dl.doubtnut.com/l/_Zk89K5bW1G8h
https://dl.doubtnut.com/l/_NPIvqkXUobTe


117. The following square planar complex shows cis-trans

isomerism-

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

[PtCl4]2 −

[PtCl3NH3] −

[PtCl2(CN)2]
2 −

[PtCl2en]

118. Which of the following factor does not favour ,

elimination in alkyl chloride-

SN1

https://dl.doubtnut.com/l/_AfTYS0rMwymD
https://dl.doubtnut.com/l/_UZzXxipP7xLF


A. stablility of 

B. steric hindrance

C. protic Solvent

D. aprotic Solvent

Answer: D

Watch Video Solution

R⊕

119. A primary alcohol can be oxidised to an aldehyde by

choosing the reagent-

A. 

B. 

KMnO4, HO⊕

K2Cr2O7, H ⊕

https://dl.doubtnut.com/l/_UZzXxipP7xLF
https://dl.doubtnut.com/l/_uP589MP34MFp


C. 

D. 

Answer: C

View Text Solution

C5H5NH ⊕CrO3Cl
o−

O3

120. when acetaldehyde is heated with Fehling's solution,

it gives a precipitate of-

A. Cu

B. CuO

C. 

D. 

Cu2O

Cu + Cu2O + CuO

https://dl.doubtnut.com/l/_uP589MP34MFp
https://dl.doubtnut.com/l/_DeVCZCztKuBz


Answer: C

Watch Video Solution

121. Which of the following polymers may be classified as

step growth polymer?

A. teflon

B. PVC

C. polyethene

D. nylon 6,6

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_DeVCZCztKuBz
https://dl.doubtnut.com/l/_4ShIpI5AeEpZ


122. Which of the following is not the male sex hormone-

A. testosterone

B. dihydrotestosterone

C. androgens

D. estrogens

Answer: D

Watch Video Solution

123. Which of the following is antipyretic-

A. aspirin

https://dl.doubtnut.com/l/_4ShIpI5AeEpZ
https://dl.doubtnut.com/l/_vGuge2nehzGW
https://dl.doubtnut.com/l/_4Wx7MulEoiju


B. narcotics

C. phenol

D. chloroform

Answer: A

Watch Video Solution

124. Allergy in the body is caused by the production of-

A. vitamins

B. harmone

C. histamine

D. ezymes

https://dl.doubtnut.com/l/_4Wx7MulEoiju
https://dl.doubtnut.com/l/_qbiyUKxVkoal


Answer: C

Watch Video Solution

125. What do you mean by salting out?

Watch Video Solution

126. Write down the structure of  .

Watch Video Solution

Fe2Cl6

127. Calculate spin only magnetic moment of  ion.

Watch Video Solution

Ni2 +

https://dl.doubtnut.com/l/_qbiyUKxVkoal
https://dl.doubtnut.com/l/_ySeVjdrYBjfT
https://dl.doubtnut.com/l/_ZWu5FdsjOjoa
https://dl.doubtnut.com/l/_CLSGaSAyNbwQ


128. Name an antiseptic which is dye.

Watch Video Solution

129. Which forces are involved in holding the drugs to

active sides of drugs?

Watch Video Solution

130. What do you mean by equivalent conductance?

Watch Video Solution

https://dl.doubtnut.com/l/_CLSGaSAyNbwQ
https://dl.doubtnut.com/l/_NoPIV56hEogM
https://dl.doubtnut.com/l/_dqef3DgiR7Oe
https://dl.doubtnut.com/l/_CzagicKg38Dl

